a1 a7 'on 2, peTR L7"02

a202W 197 N N2 FNDIONM NARSAW T YIDY NUIYID anRw 1Y
And what if by a nuwi> nnow, etc.; this one whose 7R3 —nooR%
feeds her 7190, is it not logical that her ne> feeds her 77217n!

OVERVIEW

2"2°7 sent to 32 32 32 1307 that there is a 1" that a X n2 who was nwTIPnA to
a 179 should be permitted to eat 7217n; for if a N1v1d AMOY who cannot eat
72170 if she had 7x°2 with a 7733, nevertheless if the 375 acquired her (as a
anow) with 705 she eats 7170, therefore a 5Xw> na who eats 7m0 if a 37
acquires her with 7X°2, should certainly eat 72170 if the 375 acquires her with
no3. Our Moo presents a challenge to this 1" and resolves it.

nooIN asks:
— "’nnb’:mn N9Y2 PN 2113'\5’:203 ANNAY 129N N2 NN TIND ON)

And if you will say; and let us say that a ;77%2% will prove that this 1"p is not
valid, for by a nn2° also, her 782 is 7n%o8» and nevertheless 758> is not
TNDIONM -

— NOIIN RN N 9N
The same will also apply to an 79I that even though 7n%°x» 1nX3,
nevertheless in°RM 7902 TR, just like a 7»2°! The X713 should have refuted the 1"'p from
n°1w15 Anow with the M0 of 792!

Mo0IN answers:
— SNnYya XNYM MY ON 99 19N 99N 9P INAT Y9 W

And one can say that this 1"'p is not intended to be but merely a 9%
RN -
— 19999 79959 T99W Y 79510 NNAY M5 1905 1939 2991 NOYINT

" The 1"p is implying that anyone whom 71X»2 is 2°3X», then certainly 503 should be 2"ox»; however fn2
teaches us that even someone whom 71X°2 is 27287, nevertheless 703 is not 27287,

2 A oY is DY n1p21 (only) through X2, If the 027 is a 372, the M2 can eat 17N after the X212 012 1°1p.

3 If the 02 is wIpn the no32 2> (Which is called ImR») she is not entitled to eat 0 (for she is not his
wife). [See (however) 1902 1°3p 17"7 2,70 NM2> MOOIN that a 82> NI is KN™IRTA 721102 N9IX. ]

* A ‘regular’ 1"p would mean that we derive 7981 71903 by an 7wX from 7n2"2xn 71903 by a [MoW, since an
TWR is ‘stronger’ than a 7noW in the sense that 7in?°o8» nnX»2. For such a 1'p there is a m°21 from nn2 that
7N?°38n 7nX°2 does not make one stronger to the extent that 71n?°587 77902,

> A xn9"n "% (revealing something) means that the 1"p merely reveals, to which category a o321 nwTpPn
belongs. See footnote # 7.

® The 710 writes (% ,20 [1K] X7P”) that 12 o8 X377 1902 PIp wo1 M3p° °3 1719Y; indicating that 1903 1Ip of a 172
eats mN. The question arises what is meant by 1902 11p; is it merely reserved for a 7n5w whom the master
actually owns; only she can eat 7m17n, or does 1902 1P also include others (such as an 7wX) whom he
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That an 7019R is considered 92> 1P just like a nmpw; therefore the
challenge of m2v is not applicable.”

moon offers an alternate answer:
— NN N9 199195 NIIYT 99 W Ty

In addition one can say that we cannot say 'm 20 %3 even if this is

considered a ‘regular’ 1"p; not a Xn? "2 -
— U2 NP NN 1IY NN NN TI991T NIINT

For we can refute the m°>1n by arguing why is it by a 7%2% that 7902 PX

7287 because she is not acquired nos2 -
5:909 91 Yy 712N YIRNY NI 121 902 NIPIY NYN VAN

Can you say that by an 7wX where she is 19223 nspi, therefore logic
dictates that she should eat %10 through no> 110!

SUMMARY

We cannot refute the 1"p from n°1vi1d AndW through a 1°01 from 712; either
because the 1"p is merely a Xn% "12°) that an WX is 1902 PP, or because a
M2’ is not 4052 N°3p1 therefore NY7OXM 7190 PX.

THINKING IT OVER
It would seem that the "> 7w is the more straightforward answer. Why is it
utilized merely as an "> 7?1’

acquires as his wife through 1903 11p. See footnote # 7. [We know that a 7Xw1 eats 770 from the 2109 of
(%>, [P] 1272) AR 9IR 7n°22 v 95, The discussion here is concerning an 701R.]

" The 1"p reveals to us that if a anow [by whom 7n?°58n 1nX°2 1X; indicating that she has no mwx and
nevertheless she] is considered 1905 1°1p, then an WX (by whom 7n?°98» nX*2 [that she has a mw R PIp],
she) should certainly be considered 190> 117 and 7n?*o8» 7503 (for we know that MK is 2°38n [see footnote
# 6]). The fact that by a 72> her 71902 is not in?°2x&n (even though n7°38n 7NX°2) has no bearing on whether
an WX is 190 "1 or not (since a M2’ without X2 PP is [certainly] not 1903 1PIp).

¥ How can we prove from a 7»2° [who is not 7032 n>1p1] that since 7In%°9R» 7903 X (even though that 7nNX°2
7n7°3Kn), that by an 7wX [who is 7032 n°3p1] the rule should also be 7n2°o8D 71903 PR?!

? See (1"7v) in 127 MK "2
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